
In vigore dal - Effective from    15-12-202112

MOZZI VOLANTE E LEVE FRIZIONE
STEERING WHEEL’S HUBS AND CLUTCH LEVERS

L

N

D

I

H

M

I

J

T

AD

AD
AD

U

W

AE
Z

Z

AA

AA
Y

AB
AC

S

E

J
I

G
F

H

A

I

H

J

F

C

E

G

B2
B1

X

V

Tav. 05



Rif. Cod. STEERING WHEEL'S HUBS AND CLUTCH
LEVERS ￥

05 Description Tax  included
A 0084.BAC ｽﾃｱﾘﾝｸﾞﾞﾎﾞｽ/6ﾎｰﾙ AL steering wheel hub - 6 holes 11,440

B1 0084.D2 Spacer for steering wheel hub 6 holes 2 mm 737
B2 0084.DI ｽﾃｱﾘﾝｸﾞﾎﾞｽﾗｯｷﾝｸﾞｽﾍﾟｰｻｰ Inclined spacer for steering wheel hub 9,020
C 0084.BAIB ｽﾃｱﾘﾝｸﾞﾗｯｷﾝｸﾞﾎﾞｽ AL steering wheel angled hub - 6 holes 19,800
D 0084.BAB AL steering wheel hub - 3 holes 0
E V.TB5X20 ﾎﾞﾀﾝｽｸﾘｭｰ 5X20 TB screw 5x20 mm (for BSD system) 88
E V.TB5X25F  Vite TB 5 x 25 forata Drilled TB screw 5x25 mm 0
E V.TB5X40 ﾎﾞﾀﾝｽｸﾘｭｰ 5X40 Button TB 5x40 mm (for SA3 system) 110
E V.TB5X45F  Vite TB 5 x 45 forata Drilled TB screw 5x45 mm 0
F R.P.5X11 ﾜｯｼｬｰ D.5x11 Washer Ø 5x11x1 mm 11
G D.M5A.B. ﾛｯｸﾅｯﾄ M5(ﾅｲﾛﾝ) A.B. nut M5 22
H V.TCE6X35 ｷｬｯﾌﾟﾎﾞﾙﾄ 6X35 TCEI screw 6x35 mm 44
H V.TCE6X40F  Vite TCEI 6 x 40 forata Drilled TCEI screw 6x40 mm 0
I R.P.6X12 ﾜｯｼｬｰ D.6x12 Washer Ø 6,3x12,5x1 mm 22
J D.M6A.A. A.A. nut M6 0
L V.TPSCEI6X25 ｻﾗﾎﾞﾙﾄ 6X25 TPSCEI screw 6x25 mm 44
L V.TPSCEI6X30F Drilled TPSCEI screw 6x30 mm 0
M 0033.00 ﾛｾﾞｯﾄﾜｯｼｬｰ M6/ALU Biconical AL washer Ø 6 mm 264
N D.M6A.B. ｾﾙﾌﾛｯｸﾅｯﾄM6 (ﾅｲﾛﾝ) A.B. nut M6 22
S 0113.A0KIT ｱﾙﾐｸﾗｯﾁﾚﾊﾞｰKIT Forged clutch lever Kit 24,200
T 0113.A0 ｱﾙﾐｸﾗｯﾁﾚﾊﾞｰ Clutch lever Forged 10,340
U 0014.D02 ﾍﾟﾀﾞﾙﾋﾟﾝ Adj Pin for pedal adjustment 99
V 0113.A1 ｱﾙﾐｸﾗｯﾁﾚﾊﾞｰｻﾎﾟｰﾄ Clutch lever support 7,590
W 0113.A2 ｱﾙﾐｸﾗｯﾁﾚﾊﾞｰｴｸｽﾃﾝｼｮﾝ Clutch lever extension 4,730
X 0113.A3 ｱﾙﾐｸﾗｯﾁﾚﾊﾞｰﾋﾟﾝ Pin clutch lever 539
Y 0113.A4 ｱﾙﾐｸﾗｯﾁﾚﾊﾞｰﾌﾞｯｼｭ D.3X4X3 Bush Ø 3X4X3 mm 231
Z 0113.A5 ｱﾙﾐｸﾗｯﾁﾚﾊﾞｰﾌﾞｯｼｭ D.5X6X4 BushØ 5X6X4 mm 264

AA A.E.A5 ｱﾙﾐｸﾗｯﾁﾚﾊﾞｰｼｰｶﾞｰ D.5 Seeger 5 mm 11
AB R.P.5X11 ﾜｯｼｬｰ D.5x11 Washer Ø 5x11x1 mm 11
AC D.M5A.B. ﾛｯｸﾅｯﾄ M5(ﾅｲﾛﾝ) A.B. nut M5 22
AD V.TB5X25 TB screw 5x25 mm 0
AE V.TCE4X10 TCEI screw 4x10 mm 0
AF V.TB5X30 TB screw 5x30 mm 0

0255.00 Spring for drilled screws 0


